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R RENFEHIS (A15) 2B B #H

Frx ENSEHAE: 2477 b
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 15,035
B 3,000 0 3,000 1 54
£E 1,300 160 1,140 10 756 756 162
®me 405 0 405 15 648
G 10,300 3,700 6,600 12 156 324 756 216
130340 [/ £ICA LA 3 10,440
FIE 5,660 0 5,660 10 1,404 432
EE 80 0 80 10 1,782
G 4,100 1,030 3,070 10 1,188 156 1,404 216
e 600 0 600 10 1,058
130400 (1% % 3,494
dtiEE 250 0 250 10 2,160 1,728
L 3,140 10 3,130 10 Z, 700 2,700 1,566
130600 [NACA a3 2,012
il Ll 155 0 155 5 2,592 972
®me 1,525 90 1,435 5 3. 672 3. 024 4320 864
131100 [ 3¢ % 26,500
g3 19,135 1,600 17,535 15 648 810 432
50 660 0 660 15 1,188 864
EE 1,620 1,200 420 15 1,080 1,631 1,080
FFL 5,085 1,230 3,855 12 432 648
131700 [Fr Y a3 55,939
R 4,500 2,275 2,225 15 929 1,037
R 20,140 8,840 11,300 10 156 400 648 216
£E 11,199 3,510 7,689 12 756 562 983 216
131800 | [F5NAE 3 1,884
EE 547 448 99| 0.2 103 54 119 81
®me 400 4 396 4 2,808 3,240 1,469
& 765 0 765 0.18 103 97
131910 [FHE 3 2,663
N 50 0 50 05 702 302
EE 59 5 54| 05 302 302 270
il Ll 365 0 365 1 864 324
EFNN 1,019 15 1,004 5 Z. 700 2,700 540
IR 1,050 0 1,050 10 2,808 2,160
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R RENFEHIS (A15) 2B B #H

Frx ENSEHAE: 2477 b
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
= 20 0 20 05 216
131950 |B 1 3 5,849
£E 664 333 331 3 1,944 864 1,944 864
B 2,460 516 1,944 3 1, 404 756 1,404 648
fE 45 0 45 3 864 648
133400 [LA R a3 10,500
Ik 1,710 720 990 10 864 648 1,404 1,080
EE 4,790 3,520 1,270 10 1, 620 648 1,944 1,404
32 1,000 500 500 10 1,944 1,296 1,944 972
R 3,000 2,000 1,000 10 1,404 1,404
134100 | A/ ¥ 11,470
®me 1,270 300 970 5 1,458 1,188 1,836 972
F 100 0 100 5 1,404 648
iR 880 110 770 5 1,458 1,069 1,836 756
= 900 900 0 5 1,728 1,404
=] 8,020 3,900 4,120 5 1,728 1. 080 1,890 1,004
134200 |F I % 1,990
dtiEE 280 0 280 10 1,296 756
AxL O 1,290 200 1,090 10 1,836 1,998 1,350
134300 | A F a3 5,428
32 272 122 150 2 1,458 1,080 1,404 972
=40 4,101 1,110 2991 0.3 140 124 140 119
& 895 23 873] 03 194 184 173
e 160 0 160 04 167
134400 |F<+ % 4,024
EE 1,008 0 1,008 4 2,673 1,944
REAR 2,996 0 2,996 [] - - - 2,376 972
134500 [E—<> 3 8,053
= 1,026 72 954 0.15 59 54 59 49
= I 6,982 1,056 5926 0.13 16 43 76 32
135100 [LNAVIF A % 182
FFrL 8 0 8 2 1,944 1,404
= 64 10 54 2 2214 2,808 2,268
BERS 80 30 50 2 1. 890 2,052 1,782
135200 | 3= % 58
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R RENFEHIS (A15) 2B B #H

Frx ENSEHAE: 2477 b
(ERISHERESD)
e & EEHh ENFE = (ke) F oy b tExIER 5|
AH HY5E FExt Hiike | SEM) | $EE) | ®REME) | S@EE) | $EED | ZiEE)
L 58 12 46 /] Z,700 1,296 2,700 1,188
136100 [MAL & 3 23,655
FIE 805 0 805 5 2,138 1,134
mE 5,040 465 4575 5 2. 484 1,512 2,160 810
N2 3,950 0 3,950 5 2,160 1,188
=G 230 0 230 5 1,404 1,188
136200 | 5% ¥ 12,150
dtiEE 10,200 0 10,200 10 - - - 2,106 1,566
RI% 1,950 0 1,950 10 2,894 1,782
136210 | A—2 1> 3 13,010
itiEE 12,210 2,710 9,500 10 3. 456 1,728 3,456 1,296
EE 800 800 0 10 1,620 1,296
136300 B 3 ¥ 2,810
iR 2,710 100 2,610 10 Z. 700 3,780 1,836
fE 100 0 100 10 1,620
136600 [f=F4=E 3 1,610
dtiEE 50 0 50 10 3,456
EE 1,560 1,560 0 10 2.592 950
138100 | LLM=1F % 3,819
EE 335 45 290 5 3,240
= 2,470 36 2434 0.2 238 221 302 76
138500 |[LHLE m 2,626
EH 2,582 305 22771 0.2 81 76 84 70
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#3412 B 108 (£EA)

= EISEHA%E: 768 b
(ERISHERESD)
fnfh fnfh EEHh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240400 [ R4 BN A MDA ¥ 24,839
EIEIT 10,149 8,049 2,100 10 Z. 700 156 2,700 648
&Il 2,030 1,930 100 5 1,944 540 1,944
iR 8,620 0 8,620 10 2,160 648
REAR 4,040 0 4,040 10 756 648
240700 | E @R M A A 3 17,298
3Rl 10,410 2,890 7,520 10 Z. 700 1, 620 4,104 1,836
iR 6,888 5,028 1,830 10 3,780 2,700 4,320 2,700
241470 |ZEADA ¥ 233
=& 233 113 120 0.25 184 130
242320 (33 —ILk % 1,560
= 1,560 0 1,560 3 - - - 788
242830 [ S\CYAC ¥ 21,886
H 17,566 10,396 7,170 20 5. 940 5,616
Lz 2,320 1,550 770 10 2,160 1,836 1,080
K% 2,000 640 1,360 10 8,100 3,564 8,100 3,240
242850 | EMUAC % 5,127
5 5,127 2,928 2,199 20 5. 400 5,400
243610 |[EAME % 980
=B 980 880 100 10 4. 536 1,944 3,024 2,700
246000 (V6T ¥ 3,493
=l 232 111 121 0.3 864 594 864 756
2 567 185 382| 027 810 432 864 378
&= 36 36 of o024 670
EI& 1,281 280 1,001 0.25 810 486 810 378
e 966 563 403| 025 648 432 648 432
= U5 156 107 50| 0.27 702 486 594 486
247100 |[7—JLR A a3 647
a0 281 128 153 85 17,280 6,480 10,800 7,560
=t 366 323 431 8.5 6. 264 2. 160 7,020
257100 |IZL#i % 115
=z 112 69 43 1.2 3. 240 2.916 3,240 2,484
£ 3 3 of 017 540




SF34E12 A 101 (&FER)

F A R RS T S (AE5) BHE H

R EIbng e = 8.2 %
(S I E B B )
4, . EN7EH (kg o wh5E RIS
2 4 — — filik HLAL - — — — —
AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
101 | RERT=\ 175 78 97 Kg | 1,404 756 | fe i 3,240 432
102 |FHEI-) 1,654 1,654 Kg B+ 2 2,927 324
111 |H"EITED 283 59 224 Kg | 378 =)0 1,512 191
113 | REROBH 22 12 10 Kg | 1,728 1,188 =)k 2,700 1,080
114 |5 -H 127 127 Kg HEE[E] 2,592 648
115 [/ 86 32 54 Kg [E=k 648 162] =% 900 720
117 [i3% 23 12 11 Kg [JfchE 216 107[ 0k 648 486
121 [7bixE 329 206 123 Kg [#EE 1,404 432] feJi 1,944 324
134 [7=Z 601 265 336 Keg [&3-F 2,200 1,188 Jefik 2,484 1,512
137 |[mHES< 619 436 183 Kg [SHL 3,780 3,024 o 4,212 972
138  |IR7eED 45 45 Kg frJE 3,780 3,240
140 [5iC 7 7 Kg E[RES 48,600 21,600
147 [HEx O 108 2 106 Kg [ILA 5,724 - Koy 7,560 4,500
158 | A LD 353 3 350 Kg |[=IF 1,080 = W7 1,458 540
201 |Vl 140 140 Kg EIIRE R 3T 1,873 300
203 [/h&HL 103 103 Kg ) 351 189
205 [AHT 128 128 Kg =20 405 297
206 |1 380 380 Kg T3 713 281
207 |SAE 20 20 Kg Aty 1,134 810
208 |0k 165 165 Kg gy 1,836 555
210 [iFA VD 52 52 Kg [|EIR 6,750 3,645
AVIRES BN 525 525 Kg FEEET 2,419 1,134
251 [KAELA 105 105 Kg [dkvE 4,439
254  |[&HIEESAH 401 401 Kg 7 1,998 1,080
305 |FERnoB 29 9 20 Kg | 1,512 1,188 =)k 3,240 1,890
319 |&b5 590 155 435 Kg [|EIR 1,080 432 )T & 2,592 309
332 | EA BPE 362 362 Kg E|RES 1,566 1,188
351 |AH 90 90 Kg HEE[E] 6,588 3,888
354 |IXFED 44 44 Kg Hh[E 1,134 864
355 [HVY 145 145 Kg HE 1,026 432
356 [LUA 25 25 Kg F5EL 972 324
357 [JRE 44 44 Kg HEE[E] 1,620 990
358 [KxH 25 5 20 Kg [ 1,404 R 2,160 1,404
362 [ 334 334 Kg frJE 3,240 648
401 [Hwp 14 14 Kg [IZR 864
402 |H7pE 16 16 Kg fid] (11 11,340 3,348




PO T FR YL ISR T (AN Y) B H
SF3E12 A 108 (& H)

Lk HOERRR a8 (it B 5 D)

= B R ) ke R M|

S0 madh A s Fa B PEH e BT | RE (D] 22 E (M) - PEH (M) EME(EZL ZZAE(H)

E|

507 |o—/bds 100 100] Ke TE 1,350 1,000
512 | oA 150 150] Ke T 1.320 107
528 | MRk 20" 1,220 1,220] Keg =5 1,101 1,350
524 [WmmEeEz 64 61) Ke T 950 594
558  |nf 110 110[ Kg EF 2,450 810
560 |7AuRT-— 818 818] Kg T 8,640 3,400
566 |mENNIC 298 298] Kg -




SF34E12 A 101 (&FER)

F A R RS T S (AE5) BHE H

T EIbng e = 5.4 %
(S I E B B )

= ek Hh5E H%
:Stﬁ* o izl %l (kg) _ e B \ _ 7 _ j JH | _

AH wY5E RIS FEM AR ()| ZefiE(M) PEH EAE(D) | () | ZefE(M)
701 |[BVDHA 3,451 3,091 360 Kg | 1,239 620] e 1,836 324
704 [WbLET 26 26 Kg EJN 756
705 [7=3<D 33 33 Kg L 1,944
710 |95 HIF 82 82 Kg Koy 702 540
755 [BFR&HLT 27 27 Kg HEE[E] 679
756 |BAMET 64 64 Kg R 936 831
761 |BUHASEE 42 42 Kg LS - Frsik (L 1,548 750
763 [EINIC 36 36 Kg | 6,988 5,738
801 [HEfALEIF 652 652 Kg g5 - ALEE 1,998 648
802 [HEX1T 520 520 Kg JeviE 972 864
805 [T 144 144 Kg BIRES 821 567
807 [Hikko 1 309 309 Kg EIRES 8,586 1,944
810 [B K+ 54 54 Kg BIRES 2,916 1,512
815 |[—~WEAE 10 10 Kg JeviE 680




